szl0-  |w8€
) So-  [slo-  [487
[ 9500~ |70~ |SLT
9200~ |60L0- |SZT

X

Cal

- e
<+
=3

0000  |[¥L00- [00°0 =T
.LIn.W
% [a
L
S20'0  |2500- |Szz-
S00°0-  [L%0°0- |SLZ-
0700~ |0%0°0- [08Z-
LL0°0-  |08°€-
€
o
S
(e)
N
o
[a
7810~ |L8€
) 650~ |sSl0-  [187
i 9L0°0- |25L°0- |SL'Z
9900~ |6€L0- |SZT

X

&

N =
<
o=
oo

0200 [LS00- [00°0 tm
me

X o

=N

~

9800  |SS00- |SZZ-

@ 9500|7500~ |SLZ-

%500~ 7500~ [l6Z-
1500~ |L6'€E-

E

~

[}

[

O

o

N

I~
7700 [68°€
. 8LOO  [8L00 |68
i/ ZLl0  |s800  |SLT
2020  LzLo 44

N

S|

T €

“ S3
[=Na)
2620 |20 000 ww

BN a

S

o

<

m; 2860 |6lz0  |SzT-

L 2560 9020  |sLz-

0020 [00Z0 [86C-
SLLO  |86°€-

E

@©

N

c

pw

(e)

N

o

[a
Y0 [86€
N 9020  |90Z0  |86C
i/ 290 |zez0  |sLz
Z6€0  |L8Z0  |STT

X

S

¥ E
Ba
52

__ 2870 9070 0070 °z
X

BN a

(=)

o

<

?_ IS0 |LZ0 (ST

1Y 50 8770 |SL'Z-

€E70  EEM0 |I6Z-
9970  |L6'E-

5

Nl

c

)

o

N

&
L9270  [86°€

s 0EE0  |0EE0  [86C

il 9870  [L¥E€0  [SLT
950  |z0%0 |z

X

S|

S E

! 20
| "3
“_ 909'0  |Z€S0 |00 =3

NIE &

S|

/4. 1

|
Il 9690  |7190  |Szz-
N 9990  |€¥90 |SLT-
190 |Sv90  [8Lz-
0L0  |8LE-
E
N
N
[
vl
(e)
N
o
[a
GES0  [98€
9650  |9650  |98¢
i L990  |6650  |SLT
ﬁ L690 [LI90  |sze

N

S

~ S

1 o
oz
8o

| L8L0  |€690 |00 =z
H x

N &

S

<

~

LL80  |SS80  |SZZ-
N L9800  |788°0 |SLZ-
L88°0  |L880  [I8Z-
2680  |I8€-

=

m

N

c

O

(e)

N

o

[a
890  [L8€
) %590 7590  |L87
i 9€L0  [8590  |SLT
99L0  [9L90  |szT

X

S

S

/_+ (=
Ma

| s3
958'0  [86L0  |00°0 =

N &

S

(=)

<

_q 9760 (9680 |SZZ-

“ 960  |LL8O  |SLT-
wL80  |L80  [I8C-
6680  |18€E-

=

m

5

S

(e)

N

o

[a
8L90  |€8°€
N w6L'0  |76L0  |€877
“ 9%8'0  |L6L'0  |SLT
9L8'0  [918'0  |SZT

N

S|

S =

: =3
23
o=

9960 0060  |00°0 ©Z
=

% [a

S

<

95071  |8%60 |SZT-
i 9201 0960  |SLZ-
2960  |2960  |S8T-
9860 |S8'€-
E
N
c
O
o
N
I~
8190 |00
e wELO  |[MEL0 |00€
__ 1060 £9L0  |SLZ
€60 (1280 |STT
X
S
T E

_" 82
So

I 120l 9%6'0 000 3

i X

/|| ] &
S|l

/4. [

_

c__ 1y 8560  |ST'Z-
< 180°) L60  |sLz-
8680  [868°0  |EQE-
L68°0  |€0-
E
Nl
5
o
N
o
[a
L290  |ovv
/ 7180 7180  |0LE
I 9%01  |2980  |SLT

i 9.0 8060 |SZT

X

S

<

(=] E
o M
23

9L01  |S660  |00°0 mw

N a

S

o

I 9L01  |0660 |STZ-
N 9%01  |8680 |SLZ-
1v80  [Lv80  [90°€-
Z0L0 |90~
E
n
(=]
[}
c
)
o
N
o
[a
LEO) 6€

) %900 7901|267

I LLIL 90l 5L

I LozL IS0l |sZT

X

(Wg)

V=]

m E
~ M
© =
So

_ _ _ S2
szLl 0701 000 "z

X a

(Vg

o

m

[}

b 01 |S060  |STT-

U uol 9€80  |SLZ-

88L0  [88L0  |60°€-
L7990 |60~

e

~N

-

[

hw)

o

N

o

(a1
€560 (90
/- 9660|9660  |90°€
lir! Sl |60 |SLZ
4__ SLLL |8960  |STZ

selll |

3!

el :

HE o M
L =3

[ 1 S80L 6660 0070 <3

selll | N

o 1l

S

~

[}
d‘
I 9660  |EWLO  |STT-
N S960  |SZL0  |SLT-
uLo  jaLo  jeve-
9L9°0  |€LH-
E
Nl
c
)
o
N
&
L7280 |90
/- 680  |6%8°0  |90°E
i LSOV |558°0  |SLT
L8071 |sL80  |szT

2

p=4

- E
o\ M
o=
~N S

L660  [0%6°0  |00°0 mm
=

N T

o

<

P

[}

L060  |8€60  |STT-
A LL80  |0z60  |SLT-
W60 W60 08Z-
0980  |08°€-

E

[

3

o

[a
€690 JoL'y
/- LS90  [LS90  |OL'€
i 8880  [0L90  |SLZ
860 0690  |STT

=

=4

- £

o M
23

_ 8780  L7L0  [00°0 g

i X

X a

o

<

P

[}
Iy 8ELO  [7L90  |STT-
Y 80L0  |¢LS0  |sLz-
Us0  |aso  |m0€E-
€270 |40

Poz. Odn. -1.5m

. 2 . .S
S ‘S ¢E 5 5 |88 W —
g S |2 &8 5%k |7
) 88 = |2 8 s 2
Qutea | B I £ s
Qsgs o =z 22 =
ngss | = S| 3
. 8ZR%, o = w 22
asesss| 3 2|3 s 2|8
Tszes2| & | £|¢ Qs E|E
Ofszs| = |68, Y5 3|8
A
o 8= ) S| 8 |E| 8 g\ = W m
a c 5|5 |8|a|Ww —
z £ IS &
€| g |2 |2 | x| =
A: | & &2 Esg
Dm SO | o B g 2 8
> oS |35 Sl 2| =
o S N|gz SN
e = © = | 3 o | £
O I n= | 2| ¢ El s
< £ 5
flo
v:
(o) >
. s _ ] $ls | =
L S g8 822220822
b | st
9510~ 9g'¢ 0Lz 0- L6'E
i S0~ |gl0- (98 ) €8L°0- |€8L0- |16
i 5L00- |7%L0-  |SLT “ SLO0O- |6LLO-  |SLZ
Sv00- |6ELO- |STT S%70°0- |99L0-  |SZ2
5 N
wn o
< =
N E N E
=2 2
1000 L60°0- 1000 ﬂw 2000 8600~ 1000 ﬂw
x -~
X o 2 o
un o
< =
N N
L7000  |€500- |szZ- 6700  |SLO0- |SZZ-
h_ LL00 €700~ |SL'Z- k 6L0°0 0L00- |SLZ-
7700~ |Z100- |48 6900- |6900- |88Z-
7200~ | 78°€- 650°0- |88°€-
E E
~ ~
[} [}
5 5
(e) o
N N
o [e)
[a (o
L7L0- €8¢ 6L0°0- |08€
| 0z2L'0- |ozLo- |€82 8L0°0 8100 087
“ 890°0- |9LL'0-  |SLZ i 250°0 020'0 QLT
8E0°0- [1600- |22 7800  [8£00 |72
N N
o o
< <
3 E b E
27 2
S35 =32
. 0- . =% . . . °F
I 7500 [S0000- 000 °z ZLLo G800 10070 °z
N o 3 &
= S
~ ~
I Z910 5000 |SZZ- I 2970  |90L°0 STT-
1A Zlo %000  |SLZ- S €70 €600  |sLz-
%0070 %000 16 8800 8800 L6'Z-
€000  |l6E- 2900  |L6E-
E =
~ &
! |
5 5
3 s
8700  |68°€ LSL0 18'€
ju 8800 /8800 |68 | 87270  |8Zz0 |48
if 7810 8600 |SLT li 7620 |SET0  |SLT
! 2z0 EELD 52 Zze0  loLzo  |sze
x/|l'! N
= =
<l e ¥ i
__ o3 S2
_ Z0E0 €220 1000 ,mw L70 |8EE0 [00°0 mw
_ X [ x
o/o ! [a W % H [a 18
g g
~ __ ~
m. _ Z6€°0 8770 Gz ﬁ _ 2050 %9€0 SYAYAS
W 960 [slzo [sLz- LY iLvo WLED  |sLi-
60Z°0 60Z°0 86'Z- ELED €LED 06'¢C-
€810 86'€- LBED 06€-
= [
*® ~
N i
: c
5 3
8 S
6710 L0 04710 L0
e 6€20  |6€20  [LOE e 0520 0520  [LO€E
h 40 8920  |SLZ “ 0 |6Lz0  |SL
AN A A neH'0  |GEE0 [T
NlE NS
S| | S| |
Sl E Sl E
! Sc ! RT
22 __ 58
Z€5°0  1SS7°0 0070 °z “ 7950 [L9%0 000 °Z
> a /|| ] &
S SN
~ ~ _
_ 7290  |s750  |szz- _ €90 [6€S0  |STZ-
i 7650 |50 SL'Z- _ %090 L9500  |SL'Z-
€950  |EWS0 |28 6950 6950  |08'Z-
GLG0  |Z8°€E- 0090  |08€-
E E
ol e
< <
c [=
pw) O
(@) o
N N
o o
[a [a
9LED  |68°€ 0250  |S8€
) 6£7°0  |6E70 |68 | €850 €850 |98
if 2650 [8ww0 [SL? i/ 2590  [6850  |SLT
7950  |6L70  |sZT 7890 [8090 |5ZZ
N N
= =
~ _ € ¥ S
__ =5 SE
__ 2590 6850 000 mw ZLLO £L9°0 000 mw
(] ] a X &
il g
~ __ ~
__ Z9L0  |7L90  |SZZ- 7980 |v€80 |szi-
E Lo €0L0  |SLZ- \ Z€8°0 €980  |SLZ-
€0L0  |€E0LO0  |9LZ- 9980 9980  [08'Z-
19L0 9L'€- €060  |08€-
e =
N m
] T
c [=
hw) wl
(@) o
N N
o o
[a 18 [a
L9950  |68°€ 1190 88'c
- 5190 5190 68'Z ) 0590 0590 |88
ﬁ_\_ LOLO 0290 SL'Z n ELO  [%S90  |SLZ
LELO 18690  |szZ 79L0  |ZL90  |sze
3 N
S S
¥ E 5 £
33 32
_ LZ80  |zZ9L0 0070 Mm %580  |S6L0 000 mm
N a N &
(=) S
< <
~ ~
LL60 906’0  |SZ'Z- 1960 |L680  |STZ-
{ L8870  |S060  |SLZ- L 116°0 LL8O  |SLZ-
%060 7060 |8L'Z- GL8'0  |sL80 18-
1L8'0 8L€E- L680  |I8€E-
E E
m m
< <
c [=
) O
o o
N N
& &
7890  |78°¢€ €890  |v8°€
L LLLO LILO 18'7 | €EL'0  |€ELD |48
i/ 08L0  |LZL0 SLT ﬁ 6L 0 9€L0  |SLT
0180 6EL0 |92 1280 %SL0  |SZT
NS NS
il Sl
T E Sl 5
aBy _“ S3
~ o =)
0060 |9280  |000 oW | 1L6°0 0780 1000 o
= ; =
N a /] a
g S
~ ~ _
0660 |8060 |SC2- 100' €260 |SZT-
1N 0960  [726'0 |sL'Z- '\ LL60 660 |SL'T-
926'0 9260  |08'Z- 176°0 1760 08Z-
8560 | 08€- €L6'0  |08E-
[ [
~N ~N
< <
[= c
O O
o o
N N
o o
[a [a
w990  |26'€ 7290  186°€
)= 09L0  |09L0 |26 Y BEL'0  [BEL0 (867
it 7L80  |08L0  |SLZ i 1680 |S9L0  |SLZ
2060 |L€80  |SZT 1260 €280 |S2T
3 N
o o
< <=
5 E i €
m.m %.m
. . . N . . . G
_ 2660 |916°0 000 Tz 1oL €60 10070 o
NS a N a
S S
5 3
I 780' G€6'0 ST I LoL'L 156’0 |SZ'T-
AN 7501 926'0  |SL'Z- N LLO'L 7160 SL'Z-
060 |0£60  |€E6'Z- 8060 |8060  |66Z-
€960 E6°€E- 256°0 66'E-
E =
T T
g 5
g 3
S19°0 109 8290  (0LY
e LEL'O LEL'O 10'€ / %080 |708'0 |OL€E
| 6260 |79L0  |SLT I LEO'L €780  |SLZ
5560  |zz80 |zt I L90'L 8680 |52
N N
Vo) D
m ~
M € h E
[a>Ngv] [Ya Nyl
32 g2
. . . o . : : s
00l LS6'0 000 ©Z €L0' €660 1000 s
N o NS o
Vo) ')
m ~N
m (=)
I 9011 096’0 |SZZ- I 6L0'L 1860 STT-
\ 9L0V 6160 |SLiT A\ 610 6880 |SLT-
8680 8680 20°€- 8780 8780 80°€-
1980 204~ LOLO (807~
E £
N o
[} (=]
c '
O [y
(e) o
. o
N .
o N
(o o
[a
/ 9260 9260  |20°€ ) 850' 850' 687
I 80L'1 SS60  |SLT I Zsll G50l SLT
8ELl 600 YA 81l G40l A
N N
(=) N
— o
— e ~N IS
O M «— M0
=2 N2
00L'l €201 000 mw L) LEO'L 000 Mw
N & N &
o ~N
~ o
AN i
f_ 2901 6860 S¢'e- “ 150l 6760 G717
! CEOL  [L68O  |SL¢- \\ 1201 [%E80  |SLZ-
9%8°0 9%8'0 €0e- G9L°0 G9L°0 cLe-
2990 €0'Y- 9190 €Ly-
[= E
o =
c |
3 5
N e
& S
[a
2801 £€6'€ 150 66'€
! L90'L L90'l £6'Z / 520 520 66'Z
__ L8l €901 |SLZ I €8l 8l0L  |SLZ
! LIzl 2501 YA €171 500' A
N
2
[S < £
o M ~— M
S = M=
. . . = . . . L=
Lzl GE0'l 000 "z AN o'l 000 s
N a PN a
o (=]
=R =
<] -~
1 _ _k
|
m_ Leol €060 |5¢¢” L €601 (8180 [SZz-
¥ L00'L 7780  |SLZ- / €001 r0 leli-
Now.o Now.o @O.Ml FON..O FON..O ON.M|
Foo.o @O..—Nl mhm.o ON..—Nl
E
~ [
- N
] -
. [}
= c
e 3
S N
a &
€760 L0 €160 80
/ LZ60  |LZ60  |LOE / 6680 6680  [80°E
lif L7lL |8Z60  |SLZ i 12l (5060 [SLZ
| LLLL 6760 |52 d LGl 9260 |92
X _ L
S =
~ _ E = E
! LN O | ma
| o3 _ =3
__ 180'L 1660 00°0 "z _ 190' L960 000 "
: ~ =
NUHE a N a
=N S
<l ~
1 — 1
__ . . 7
| 1660 L0 lezz- M LLED 2580 mN.N-
1960 |L7L0  |SLz- - 1760 |SE80  |Si et
SEL0 |SEL0  |60€- 0e80  0e80 26
00L0 |60~ L6LO  eoe-
E £
- -
c [
3 3
; s
[a [a
%8L0 S0 9€L'0 |50
e 0280 10280  |SO°€ / SLL'O  |SLLO  |SOE
i 8l01  |SZ80  |SLZ I 260 S8L0  [SLZ
é 8%0'l GEQ0 152 | 200'l €6L0  |SZT
S X
p=4 2
< E e S
1 (=3¢ < M
_ 23 x3
(= w =
8560 |106°0 00°0 "z 7160 €580 1000 NT
X '
N & 3 a
o o
< =
P P
[} 1
~ 8980  |%980 |57Z- i 77290 woL0  lczz-
& £
< N
| -
5 £
N R
& S
€ZL0 |00
1690  |9LE
/ 0650 10650  |00°€ 9€9'0  [9€9°0  |9L'Z
] 8SL0 12090  |SLT i 8290  |SE9°0  |SL'Z
88L0  |5790  |szT “ 8590  |0L9°0 ST
N sl
2 =
= E =t 1=
=2l
: : . =2 : : : S
8690 19290  [00°0 L2 _ 8950 8950  [00°0 oz
X a NI o
S =1
- - !
1 1
8090 |50  l<zz- 8L70 8150 Sz
/" J mhm.o mhq.o mh.Nl \ w¢¢.o mw¢.o mh.Nl
8770 890 |S6z- 7870 vev0 087"
S8E0  |S6'E- 1270 08"
E S o
< - c
,|_ | O (0]
) c 2 > o
£ S e 8 ¢
e Nl S O] § 2 5
5 a2 & °| 5 =S 5
o r o [ (@)




	PT_I_1_5.1_PRZEKROJE POPRZECZNE

